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00 52. 30000000000 R¥00,000 C*00000 F = (F,F, F) 00
oo,

w1 L Frde + Fody + Fydz,  wy S Fydy A dz + Fadz A da + Fada A dy

00000, du, dw, 0000, 00000000 divF = V- F, crlF = V x F
(V = (0/0x,0/8y,0/02)) 0,000000000000.

00 53. 20000000000 R2={(z,y) | z,yc RYODD0OO0 0000000 R2\{0}
0,000000000000000000C*000000000000. R2\{0}00

100o0o00d
def. -y xT
w = x2+y2dx+a:2+y2dy

goooo.

(H)R2\{0} 00000 (z,y)=(rcosf,rsinf) 0000,w 0 dr,dd DODOO.
(2)dw=000000.

B)w=dFO0O00DO0R*\{0}00C>*000 FOOOOOOO

00 54. R"00000000 w=dx; Adry+drsAdrg+ -+ dre,—1 ANdre, 0000,
wr=wA---AwOO0O000.
—_—
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00 55. 00000 S? = {(z,y,2) e R® | 2 +¢y*+22 =1} 0000. DOOOO
i:S?-=R*0O0D0.

(1) i*(de Ndy Ndz) OO OO

(2) i*(dr Ady) D000 00000000000000.



00 56. 00 500000000X000000,«0 k000000000000 LyaO
k
(Lxa)(X1,... . Xp) = X (X, ., Xp)) = Dol X, . [X, X, X)
=1

0000000000 X000 Lie00OODOOO

(1) LyeD kODOOOOO0O0O0O0O0O0O000O00O

(2) X,YyOODOOOOOOODOD LxLy — LyLx = Lixy; 0000
(3) Ly(aAB) = (Lxa) AB+aA (Lyf) 0000

(4) dLy = Lxd 000 O

00 57. XO0OODOODO0D«eO EODOODODODOO0O00000e0 XOOODO i(X)aOO
ooooon
(X)) (X1, ..o, Xpet) = (X, X1, X)

i(X)aOO(k-1)000000000

(1) i(X) (@A B) = ((X)a) AB+ (-1)fa A (i(X)) 000000000 kOODDO
0000

2) i([X,Y]) = Lxi(Y) —i(Y)Lx OO OO

(3) Lx = i(X)d+di(X)0000 (Cartan 0 00000000)



